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Fifth Semester Examination — 2012
DATA COMMUNICATION AND COMPUTER NETWORK

Full Marks —-70

Time : 3 Hours

Answer Question No. 1 which is compulsory and any five from the rest.
The figures in the right-hand margin indicate marks.

1. Answer the following questions : 2x10
What do you mean by data communication ?

What is simplex ?
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Identify and describe in ONE sentence the four components of delay is a
communications network.

d) Whatis full duplex ?
e) Whatis a network ?

f)  Whatis distributed processing ?

h) Whatis multipoint connection ?
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(g) Whatis point to point connection ?
(
( What is a topology ?

(

) Define LAN, MAN and WAN.
2. Draw OSIl architectural model for open system inter networking and explain. 10
3. (a) Whatare the various types of transmission modes and explain. 5

(b) What are the various types of noise that effect the digital communication ?
Explain in detail about each of them and techniques to minimize them. 5
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4. (a) Whatis atopology ? Explain the topologies in Data Communications. 5
(b) Explain the working of link state routing algorithm with an example. 5

5. (a) What is data communication ? What are the possible ways of data
transmission ? Explain with examples 5

(b) Draw the block diagram of data communication system and explain its

components. b
6. (a) Define the open systems interconnection. Briefly describe the seven layers
of the OSI protocol hierarchy. 5
(b) Explain the following : : 5
(i) Information Capacity
(i) Bitrate
(iii) Baud

(iv) M-ary encoding. :
7. (a) Whatis meant by simplex, half duplex and full duplex communication
system ? Give representative examples of each. 5
(b) What is circuit switching ? Discuss how packet switching is better than
circuit switching for computer to computer communication. 5
8. (a) Compare and contrastthree key long distance communication technologies,
namely X.25, frame relay and ATM. 3
(b) Why is itimportant for protocols configured on the top of Ethernet to have a
length field in their header, indicating how long the message is ? Discuss
what kinds of problems arise when two computers on the same Ethernet
share the same MAC (hardware) address. 4
(c) List at least three techniques used for error detection and correction.
Discuss any one of them in detail. 3
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